id:19 level: O
26: COC1 C2C3C4
C5C6C7C8C9C10
Cl1 C12C14 Ci15Cl1le C17
C19 C21 C22 C23 C24 C25
C26 C28 C29
291: CO = C1(CO0C1)C0 = Cc2(C0oC2) CO_—_ 3(COC3)C0O =C4(C0C4)CO =C5h(COCH)
CO = C6(CO0C6)CO =C7(COC7)C0O = C8(COC8)CO =C9(CO0C9)CO = C10(COCI0)CO = C11(COC11)
CO = C12(C0C12)C0 = C14(CO C14)C0_=_C 5(C0C15)C0 = C17(C0C17)C0O = C19(C0C19)CO = C21(C0OC21)
CO = C23(C0C23)C0 = C24(C0C24)C0O = C25(C0OC25)CO = C26(COC26)CO = C28(C0OC28)C1 = C2(C1C2)
Cl = C3(C1C3)C1 =C4(C1C4)C1 =C5(C1C5h) C1 = C6(C1C6)C1 _=_ 7(C1C7)C1 = C8(C1C8)
Cl =C9(C1C9)C1 =Cl10(C1C10)C1 =C11(C1C11)C1 =C12(C1C12)C1 =cC14(C1C14)C1 = C16(C1 C10)
Cl =C17(C1C17)C1 = C19(C1C19)C1 = C21(C1C21) 1_= C22(C1C22)C1 = C23(C1C23)C1 = C24(C1C24)
1 =C25(C1C25)C1 = C26(C1C26)C1 = C28(C1C28)C1 =C29(C1C29)C2 =C3(C2C3)C2 =C4(C2C4)
C2 = C5(C2CH)C2 =C6(C2C6)C2 =C7(C2C7)C2 =C8(C2C8)C2 =CY(Cc2C9)C2 =C10(cz2cC10)
C2 = Cl11(C2C11)C2 = C12(C2C12)C2 = C14(C2C14)C2 = C15(C2C15)C2 = Cl6(C2Cl1l6)C2 = C17(C2C17)
C2 = C19(C2C19)C2 = C21(C2C21)C2 = C22(C2C22)C2 = C23(C2C23)C2 = (C24(C2C24)C2 = C25(C2C25)
C2 = C26(C2C26)C2 = C28(C2C28)C2 = (C29(C2C29)C3 =(C4(C3C4)C3 = C5(C3¢C5 ) C3 = C6(C3C6)
C3 =C7(C3C7)C3 =C8(C3C8)C3 =CY(C3C9)C3 =C11(C3C11)C3 = C12(C3C12)C3 =C14(c3C14)
C3 = C15(C3C15)C3 = C16(C3C16)C3 = C17(C3C17)C3 = C21(C3C21)C3 = C22(C3C22)C3 = C23(C3C23)
3 =C24(C3C24)C3 = C25(C3C25)C3 = C26(C3C26)C3 = (C28(C3C28)C4 = C5h(C4C5 ) C4 = C6(C4C6)
C4 =C7(C4C7)C4 =C8(C4C8)C4 =(C9(C4C9)C4 =cC10(cacCc10)Cc4 =cCc11(c4ac11)yca = c12(c4ac12)
C4 = C14(C4C14)C4 = C15(C4C15)C4 =C16(C4C16)C4 = C17(C4C17)C4 = C19(C4C19)C4 = Cc21(Cc4aC21)
C4 = C22(C4C22)C4 = C23(C4C23)C4 =C24(C4C24)C4 = C25(C4C25)C4 = C28(C4C28)C4 = C29(C4C29)
5 =C6(C5C6)C5 =C7(C5C7)C5 =C8(C5C8)C5 =C9(C5C9)C5 = C10(C5C10)C5 = C11(C5C11)
C5 = C14(C5C14)C5 = C15(C5C15)C5 = C16(C5C16)C5 = C17(C5C17)C5 = C22(C5C22)C5 = C23(C5C23)
C5 = C24(C5C24)C5 = C25(C5C25)C5 = C26(C5C26)C5 = C28(C5C28)C6 = C7(C6C7)Cb6 = C8(C6C8)
C6 = C9(C6C9)C6 = C10(C6C10)C6 = C11(C6C11)C6 = C12(C6C12)C6 = C14(C6C14)C6 = C16(C6 C16)
C6 = C17(C6C17)Cb6 = C19(C6C19)Cb = C22(C6C22)Co = C23(C6C23)C6 = C25(C6C25)CoH = C26(C6 C26)
6 = C28(C6C28)C6 = C29(C6C29)C7 = C8(C7C8)C7 =C9(C7C9)C7 = C10(C7C10)C7 = C11(C7C11)
C7 = C12(C7C12)C7 = C14(C7C14)C7 = C15(C7C15)C7 = Cl16(C7C16)C7 = C17(C7C17)C7 = C19(C7 C19)
C7 = C23(C7C23)C7 = C24(C7C24)C7 = C25(C7C25)C7 = C26(C7C26)C7 = C28(C7C28)C7 = C29(C7C29)
C8 = C9(C8CY)C8 = C10(C8C10)C8 = C11(C8C11)C8 = C12(C8C12)C8 = (C14(C8C14)C8 = C15(C8C15)
C8 = C16(C8C16)C8 = C17(C8C17)C8 = C19(C8C19)C8 = C21(C8C21)C8 = (C22(C8C22)C8 = (C23(C8C23)
C8 = (C24(C8C24)C8 = C25(C8C25)C8 = C26(C8C26)C8 = C28(C8C28)C8 = C29(C8C29)C9 = C10(C9C10)
C9 = Cl11(C9C11)C9 = C12(C9C12)C9 = C14(C9C14)C9 = C15(C9C15)C9 = C16(C9C16)C9 = C17(C9C17)
C9 = C19(C9C19)C9 = C21(C9C21)C9 = C22(C9C22)C9 = C23(C9C23)C9 = C24(C9C24)C9 = C25(C9C25)
C9 = C28(C9C28)C9 = C29(C9C29)C10 = C11(C10C11)C10 = C12(C10C12)C10 = C14(C10C14)C10 = C17(C10C17)
C10 = C19(C10C19)C10 = C21(C10C21)C10 = C23(C10C23)C10 = C24(C10C24)C10 = C25(C10C25)C10 = C26(C10C206)
C10 = C28(C10C28)C10 = C29(C10C29)C11 = C12(C11C12)C11 = C14(C11C14)Cl11 = C16(C11C1l6)Cl11 = C17(Cl11C17)
Cl1 = C19(C11C19)C11 = C22(C11C22)C11 = C23(C11C23)C11 = C24(C11C24)C11 = C25(C11C25)C11 = C26(C11C26)
Cl1 = C28(C11C28)Cl12 = C14(C12C14)C12 = C16(C12C16)C12 = C17(C12C17)C12 = C19(C12C19)C12 = C21(C12C21)
Cl12 = C22(C12C22)C12 = C23(C12C23)C12 = C24(C12C24)C12 = C25(C12C25)C12 = C26(C12C26)C12 = C28(C12C28)
Cl12 = C29(C12C29)Cl14 = C15(C14C15)Cl14 = C16(C14Cl6)Cl14 = C19(C14C19)C14 = C21(C14 C21)Cl14 = C23(C14 C23)
Cl4 = C24(C14C24)Cl14 = C25(C14C25)Cl14 = C26(C14 C26)C14 = C28(C14C28)Cl14 = C29(C14C29)C15 = C16(C15C16)
C15 = C17(C15C17)C15 = C19(C15C19)C15 = C22(C15C22)C15 = C23(C15C23)C15 = C24(C15C24)C15 = C25(C15C25)
C15 = C29(C15C29)Cl16 = C17(C16 C17)Cl6 = C19(C16 C19)Cl6 = C21(C16 C21)Cl6 = C22(C16C22)Cl6 = C23(C16 C23)
C16 = C24(C16 C24)Cl6 = C25(C16 C25)Cl6 = C26(C16 C26)Cl6 = C28(C16C28)Cl6 = C29(C16C29)C17 = C19(C17 C19)
C17 = C21(C17C21)C17 = C22(C17C22)C17 = C23(C17C23)C17 = C24(C17C24)C17 = C25(C17C25)C17 = C26(C17 C26)
Cl17 = C28(C17C28)C17 = C29(C17C29)C19 = C21(C19C21)C19 = C22(C19C22)C19 = C23(C19C23)C19 = C24(C19C24)
C19 = C26(C19C26)C19 = C28(C19C28)C19 = C29(C19C29)C21 = C22(C21 C22)C21 = C23(C21C23)C21 = C24(C21C24)
C21 = C25(C21 C25)C21 = C26(C21 C26)C21 = C28(C21 C28)C21 = C29(C21 C29)C22 = C23(C22C23)C22 = C24(C22C24)
C22 = C25(C22 C25)C22 = C26(C22 C26)C22 = C28(C22C28)C22 = C29(C22C29)C23 = (C24(C23C24)C23 = (C28(C23C28)
C23 = C29(C23 C29)C24 = C26(C24 C26)C24 = C28(C24 C28)C24 = C29(C24 C29)C25 = C26(C25C26)C25 = C28(C25C28)
C25 = C29(C25C29)C26 = C28(C26 C28)C26 = C29(C26 C29)C28 = C29(C28 C29)
25:C0Cl1 C2C3C4 25: C0C1 C2C3C4
C5C6C7C8C9C10 C5C6C7C8C9C10
Cl1 Cl12Cl14 C15C16 C17 Cl1 Cl12C14 C15C16 C17
C19 C21 C22 C23 C24 C25 C19 C21 C22 C23 C24 C26
C26 C29 C28 C29
267:C0 = C1,C0 = C2,C0 = C3,C0 = (C4,C0 = C5, 269: CO = C1,C0 = C2,C0 = C3,C0 =C4,C0 = C5,
C0 = C6,C0 = C7,C0O_= C8 ,CO = C9 ,C0 = C10,C0 = C11, C0 = C6,C0 = _C7 CO = C8 ,CO0 = C9 ,C0 = C10,C0 = C11,
CO0 = C12,C0 = C14 CO_=_C15 CO = C17 0 = C19,C0 = C21, C0O = C12,C0 = C14,C0 = _C15 CO = C17 ,C0 = C19,C0 = C21,
CO = C23 ,C0 = C24,C0 = C25 ,CO = _C26 ,C1 = C2,C1 = C3, CO = C23 ,C0 = C24,C0 = C26 ,C0 = C28,C1 = C2,C1 =C3,
Cl =C4,C1 =C5 ,C1_=_C6 ,Cl1 =C7,C1 =C8,C1 =C9, Cl =C4,C1 =C5 ,Cl_=_C6 ,C1l = C7 C1_=_C8 ,Cl = C9,
ci1 =C10,C1 = C11,C1 = C12,C1 = C14,C1 = Cl16,C1 = C17, c1 =C10,C1 = C11,Cc1 =C12,C1 = C14,C1 = Cl16,C1 = C17,
Cl =C19,C1 = C21,C1 = C22,C1 = C23,C1 = C24,C1 = C25, Cl = C19,C1 = C21,C1 = C22,C1 = C23 ,C1_=_CZ4 ,C1l = C26,
Cl =C26,C1 =C29,C2 =C3,C2 =C4,C2 =C5,C2 =C6, Cl =C28,C1 =C29,C2 =C3,C2=C4,C2 =C5,C2 =C¢6,
c2=C7,C2=3$68,C2 =C9,C2 =C10,C2 =C11,C2 =C12, c2=C7,C2=3$68,C2 =09,C2 =C10,C2 =C11,C2 =C12,
C2 = Cl14,C2 = C15,C2 = Cl6,C2 = C17,C2 = C19,C2 = C21, C2 = C14,C2 = C15,C2 = Cl6,C2 = C17,C2 = C19,C2 = C21,
C2 = C22,C2 = C23,C2 = C24,C2 = C25,C2 = C26,C2 = C29, C2 = C22,C2 = C23,C2 = C24,C2 = C26,C2 = C28,C2 = C29,
C3=064,C3=C(C5,C3=C6,C3 =C7,C3 =1C(C8,C3 =209, C3=64,C3=C5,C3=C6,C3 =C7,C3 =C(C8,C3 =209,
c3 =C11,C3 =C12,C3 =C14,C3 = C15,C3 =C16,C3 = C17, Cc3 =C11,C3 =C12,C3 =(C14,C3 = C15,C3 =C16,C3 = C17,
C3 = (C21,C3 = C22,C3 = C23,C3 = (C24,C3 = C25,C3 = C206, C3 = C21,C3 = C22,C3 = C23,C3 = (C24,C3 = C26,C3 = C28,
C4=C5,C4=C6,C4=C7,C4 =C(C8,C4 =C9,C4 =C10, C4=C5,C4=C6,C4=C7,C4=CC8,C4=C9,C4 =CcC10,
C4 =C11,C4 = C12,C4 = Cl14,C4 = C15,C4 = Cl16,C4 = C17, C4 =C11,C4 =C12,C4 = C14,C4 = C15,C4 = C16,C4 = C17,
C4 =C19,C4 = C21,C4 = C22,C4 = C23,C4 = C24,C4 = C25, C4 =C19,C4 = C21,C4 = C22,C4 = C23,C4 = C24,C4 = C28,
4 =C29,C5 =C6,C5 =C7,C5 =(C8,C5 =(C9,C5 =Cl10, C4 =C29,C5=C6,C5 =C7,C5 =(C8,C5 =(C9,C5 =C10,
C5 =C11,C5 = C14,C5 = C15,C5 = Cl6,C5 = C17,C5 = C22, C5 =C11,C5 = C14,C5 = C15,C5 = Cl6,C5 = C17,C5 = C22,
C5 = C23,C5 = (C24,C5 = C25,C5 = C26,C6 = C7,C6 = C8, C5 = C23,C5 = C24,C5 = C26,C5 = C28,C6 = C7,C6 = C8,
C6 = C9,C6 = C10,C6 = C11 ,C6 = C12,C6 = C14 ,C6 = Cl6, C6 = C9,Co = C10,C6 = C11 ,C6 = C12,C6 = C14 ,C6 = C16,
Co6 = C17,C6 = C19,C6 = C22 ,Co = C23,C6 = C25,C6 = C26, C6 = C17,C6 = C19,C6 = C22,Co = C23,C6 = C26,C6 = C28,
C6 = C29,C7 =(C8,C7 =(C9,C7 =C10,C7 = C11,C7 = C12, Co = C29,C7 =(C8,C7 =(C9,C7 =C10,C7 = C11,C7 =C12,
Cc7 = C14,C7 = C15,C7 = Cl6,C7 = C17,C7 = C19,C7 = C23, C7 = C14,C7 = C15,C7 = Cl6 ,C7 = C17,C7 = C19,C7 = C23,
C7 = C24,C7 = C25,C7 = C26,C7 = C29,C8 = C9,C8 = C10, C7 = C24,C7 = C26,C7 = C28,C7 = C29,C8 = C9,C8 = C10,
c8 = C11,C8 = C12,C8 = C14 ,C8 = C15,C8 = C16,C8 = C17, c8 = (C11,C8 = C12,C8 = C14,C8 = C15,C8 = C16,C8 = C17,
C8 = C19,C8 = C21,C8 = C22,C8 = C23,C8 = C24,C8 = C25, C8 = C19,C8 = C21,C8 = C22,C8 = C23,C8 = C24,C8 = C26,
C8 = C26,C8 = C29,C9 = C10,C9 = C11,C9 = C12,C9 = C14, C8 = C28,C8 = C29,C9 = C10,C9 = C11,C9 = C12,C9 = C14,
C9 = C15,C9 = C16,C9 = C17,C9 = C19,C9 = C21,C9 = C22, C9 = C15,C9 = C16,C9 = C17,C9 = C19,C9 = C21,C9 = C22,
C9 = C23,C9 = C24,C9 = C25,C9 = C29 ClO = C11,C10 = C12, C9 = C23, C9 = C24,C9 = C28,C9 = C29 C10 = C11,C10 = C12,
0 =Cl4 ClO = Cl17 ,C10 = C19 ,C10 = C21 ,C10 = C23 ,C10 = C24 C10 = C14 ClO = Cl17 ,C10 = C19 ,C10 = _C21 ClO_—_C23 ,C10 = _C24,
0 = C25,C10 = C26,C10 = C29,C11 = C12 ,C11 = Cl4 ,C11 = C16, C10 = C26,C10 = C28,C10 = C29,C11 = C12,C11 = C14,C11 = Ci16,
1 =cC17,C11 = C19,C11 = C22,C11 = C23,C11 = C24,C11 = C25, Cc11 = C17,C11 = C19,C11 = C22,C11 = C23,C11 = C24,C11 = C26,
1 =C26,C12 = C14,C12 = C16,C12 = C17,C12 = C19,C12 = C21, Cl1 = C28,C12 = C14,C12 = C16,C12 = C17,C12 = C19,C12 = C21,
2 = C22,C12 = C23,C12 = C24,C12 = C25,C12 = C26,C12 = C29, Cl2 = C22,C12 = C23,C12 = C24,C12 = C26,C12 = C28,C12 = C29,
4 = Cl15,C14 = C16,C14 = C19,C14 = C21,C14 = C23,Cl14 = C24, Cl4 = C15,C14 = C16,C14 = C19,C14 = C21,C14 = C23,C14 = C24,
4 = C25,C14 = C26,C14 = C29,C15 = Cl16,C15 = C17,C15 = C19, Cl4 = C26,C14 = C28,C14 = C29,C15 = Cl16,C15 = C17,C15 = C19,
5 = C22,C15 = C23,C15 = C24,C15 = C25,C15 = C29,Cl6 = C17, Cl5 = C22,Cl15 = C23,C15 = C24,C15 = C29,Cl16 = C17,C16 = C19,
6 = C19,Cl6 = C21,Cl6 = C22,Cl6 = C23,C16 = C24,Cl6 = C25, Cl6 = C21,Cl6 = C22,Cl6 = C23,Cl6 = C24,Cl6 = C26,C16 = C28,
6 = C26,Cl16 = C29,C17 = C19,C17 = C21,C17 = C22,C17 = C23, Cl6 = C29,C17 = C19,C17 = C21,C17 = C22,C17 = C23,C17 = C24,
7 = C24,C17 = C25,C17 = C26,C17 = C29,C19 = C21,C19 = C22, Cl7 = C26,C17 = C28,C17 = C29,C19 = C21,C19 = C22,C19 = C23,
9 = C23,C19 = C24,C19 = C26,C19 = C29,C21 = C22,C21 = C23, C19 = C24,C19 = C26,C19 = C28,C19 = C29,C21 = C22,C21 = C23,
1 = C24,C21 = C25,C21 = C26,C21 = C29,C22 = C23,C22 = C24, C21 = C24,C21 = C26,C21 = C28,C21 = C29,C22 = C23,C22 = C24,
2 = C25,C22 = C26,C22 = C29,C23 = C24,C23 = C29,C24 = C26, C22 = C26,C22 = C28,C22 = C29,C23 = C24,C23 = C28,C23 = C29,
C24 = C29,C25 = C26,C25 = C29,C26 = C29, 24 = C26,C24 = C28,C24 = C29,C26 = C28,C26 = C29,C28 = C29,
id:20 level: 1 id:21 level: 1
26: C0Cl1 C2C3C4 26: C0Cl1 C2C3C4
C5C6C7C8C9C10 C5C6C7C8C9C10
Cl11 Cl12Cl14 C15C16 C17 Cl11 Cl12C14 C15C1e6 C17
C19 C20 C21 C22 C23 C24 C18 C19 C21 C22 C23 C24
C25 C26 C29 C26 C28 C29
290: CO = CI1(C0O0C1)C0O0 =C2(C0C2)CO0 =C3(C0oC3)C0O0 =c4(coca)co =cc5(coch) 291: CO = C1(C0O0C1)C0 = C2(C0ocC2)cCo = C3( CO0C3)Co = C4( CO0C4)C0 = C5(C0Ch)
CO =C6(C0OC6)C0O =C7(COC7)C0O =C8(COC8B)CO =C(CY(COC9)CO =C10(COC1I0)CO =C11(COC11) CO = C6(CO0C6)CO =C7(C0OC7)C0O = C8(COC8)CO =C9(CO0C9)CO = C10(C0OCI0)CO = C11(COC11)
CO0 = C12(C0C12)C0O = C14(C0C14)CO = C15(C0C15)C0 = C17(C0C17)CO = C19(COC19)CO = C20(C0 C20) CO = C12(C0C12)C0O = C14(C0C14)CO = C15(C0C15)C0 = C17(C0C17)CO = C18(C0OC18)CO = C19(CO0C19)
CO = C21(C0O0C21)C0O = C23(C0C23)C0O = C24(C0C24)C0O = C25(C0C25)C0O = C26(C0C26) C1_=_C (C1C2) CO = C21(C0O0C21)C0O = C23(C0C23)C0O = C24(C0C24)C0O =C26(C0C26)C0O = C28(C0C28)C1 =C2(C1C2)
Cl =C3(C1C3)C1 =C4(C1C4)C1 =C5(C1C5)C1 =Ch6(C1C6)C1 =C7(C1C7)C1 =C8(C1C8) Cl = C3(C1C3)C1 =C4(C1C4)C1 =C5h(C1Ch)C1 =CoH(C1CB)C1 =C7(C1C7)C1 =2C8(C1CC8)
Cl =C9(C1C9)C1 =C10(C1C10)C1 =C11(C1C11)C1 =C12(C1C12)C1 =C14(C1C14)C1 = C16(C1C16) Cl =C9(C1C9)C1 =C10(C1C10)C1 =C11(C1C11)C1 =C12(C1C12)C1 =C14(C1C14)C1 = C16(C1C16)
Cl = Cl17(C1C17)C1 = C19(C1C19)C1 = C20(C1C20)C1 = C21(C1C21)C1 = (C22(C1C22)C1 = C23(C1C23) Cl =C17(C1C17)C1 = C18(C1C18)C1 =C19(C1C19)C1 = C21(C1C21)C1 = C22(C1C22)C1 = C23(C1C23)
1 =C24(C1C24)C1 = C25(C1C25)C1 = C26(C1C26)C1 = C29(C1C29)C2 =C3(C2C3)C2 =cCc4(cz2cCa) 1 =C24(C1C24)C1 = C26(C1C26)C1 = C28(C1C28)C1 =C29(C1C29)C2 =C3(C2C3)C2 =1C4(C2cC4)
C2 = C5(C2C5)C2 =C6(C2C6)C2 =C7(C2C7)C2 =C8(C2C8)C2 =CY(C2C9)C2 = C10(cz2cC10) C2 = C5(C2CH)C2 =C6(C2C6)C2 =C7(C2C7)C2 =C8(C2C8)C2 =CY(C2C9)C2 = C10(cCc2cC10)
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— _ _ _ _ _ Cl4 = C26,C14 = C28,C14 = C29,C15 = C17,C15 = C18,C15 = C22,
Cl17 = C22,C17 = C23,C17 = C24,C17 = C25,C17 = C26,C17 = C29, _ _ _ _ _ _
_ _ _ _ _ _ Cl5 = C23,C15 = C24,C15 = C29,C17 = C18,C17 = C22,C17 = C23,
C19 = C20,C19 = C21,C19 = C22,C19 = C23,C19 = C24,C19 = C26, _ _ _ _ _ _
_ _ _ _ _ _ Cl7 = C24,C17 = C26,C17 = C28,C17 = C29,C18 = C22,C18 = C23,
C19 = C29,C20 = C21,C20 = C22,C20 = C23,C20 = C24,C20 = C25, _ _ _ _ _ _
_ _ _ _ _ _ C18 = C26,C18 = C28,C18 = C29,C22 = C23,C22 = C24,C22 = C26,
C20 = C26 ,C20 = C29,C21 = C22,C21 = C23,C21 = C24,C21 = C25, B _ _ _ _ _
_ _ _ _ _ _ C22 = C28,C22 = C29,C23 = C24,C23 = (C28,C23 = C29,C24 = C26,
C21 = C26,C21 = C29,C22 = C23,C22 = C24,C22 = C25,C22 = C26, 24 = C28,C24 = C29,C26 = C28,C26 = C29,028 = C29,
C22 = C29,C23 = C24,C23 = C29,C24 = C26,C24 = C29,C25 = C26, - - ’ -
C25 = C29,C26 = C29,
4
id:22 level: 2
24: CO0C1 C2C3C4 4
C5C6C8C10C11 C14 id:23 level: 2
C15C16 C17 C19 C20 C21 23: C0C1 C2C3C4
C22 C23 C24 C25 C26 C27 C5C7C8C9C10C11
C29 Cl12C13Cl14 C15C17 C18
246: CO = CI1(CO0C1)C0O = Cc2(CcocCc2)cCo = CS( COC3)C0O =C4(C0C4)C0O =C5(C0ChH) C22 C23 C24 C26 C28 C29
CO = C6(C0C6)CO =C8(COC8)CO = C10(C0OC10)CO = C11(COC11 ) CO = C14(C0C14)C0O = C15(C0C15) 230: CO = CI(CO0C1)C0O =C2(C0C2)C0O0 =C3(C0oC3)CO0 =c4(coca)co =cc5(coch)
CO = C17(C0C17)C0O = C19(C0C19)CO = C20(CO0 C20) C = (C21(C0C21)C0O = C23(C0C23)C0O = C24(C0C24) CO =C7(COC7)C0O =C8(C0OC8)C0O =C9(C0C9)CO =cC10(cC0C10)C0O =C11(COC11)YCO =C12(CO0C12)
CO = C25(C0C25)C0O0 = C26(CO0C26)C0O = C27(C0O0C27)C1 =C2(C1C2)C1 =C3(Cc1C3)C1 =cCc4(c1ca) CO = C13(C0C13)C0 = C14(C0C14)C0 = C15(C0C15 ) C 0 =Cl17(C0C17)C0O = C18(C0OC18)C0O = C23(C0 C23)
Cl =C5(C1C5)C1 =Ch(C1C6)C1 =C8(C1C8)C1 =C10(C1C10)C1 =C11(C1C11)C1 = C14(C1C14) CO = C24(C0C24)C0O = C26(C0C26)C0O = C28(C0C28) C1_= C2(C1C2)C1 =cC3(cCc1cCc3)C1 _=_C4( Cl1C4)
Cl = Cl16(C1C16)C1 = C17(C1C17)C1 =C19(C1C19)C1 = C20(C1C20)C1 = C21(C1C21)C1 = C22(C1C22) Cl =C5(C1C5)C1 =C7(C1C7)C1 =C8(C1C8)C1 =CC9(C1C9)C1 =_C1o(c1cCc10)c1 =c11(c1cr)
Cl = C23(C1C23)C1 = (C24(C1C24)C1 = C25(C1C25)C1 = C26(C1C26 ) Cl = C27(C1C27)C1 = (329( C1 C29) Cl = C12(C1C12)C1 = C13(C1C13)C1 = C14(C1C14 ) 1_=_C17( C1C17)C1 = C18(C1C18)C1 = C22(C1C22)
C2 = C3(C2C3)C2 =C4(C2C4)C2 =Ch(C2ChH)C2 =CoH(C2CBH)C2 =C8(C2C8)C2 = C10(C2cC10) Cl = C23(C1C23)C1 = C24(C1C24)C1 = C26(C1C26)C1 =C28(C1C28)C1 =C29(C1C29)C2 = CC3(C2C3)
C2 = C11(C2C11)C2 = C14(Cc2C14)C2 = C1 5( C2C15)C2 = Cl6(C2 C16 )C2 = C17(C2C17)C2 = C19(C2C19) C2 =C4(C2C4)C2 = C5(C2C5)C2 =C7(C2C7)C2 =C8(C2C8)C2 =CHY(C2C9)C2 = C10(C2C10)
C2 = C20(C2C20)C2 = C21(C2C21)C2 = C22(C2C22)C2 = C23(C2C23)C2 = (C24(C2C24)C2 =C25(C2C25) C2 = Cl11(C2C11)C2 = C12(C2C12)C2 = C13(C2C13)C2 = C14(C2C14)C2 = C15(C2C15)C2 = C17(C2C17)
C2 = C26(C2C26)C2 = C27(C2C27)C2 = C29(C2C29)C3 =(C4(C3C4)C3 =C5(C3C5)C3 =cCoH(C3CO) C2 = C18(C2C18)C2 = C22(C2C22)C2 = C23(C2C23)C2 = (C24(C2C24)C2 = C26(C2C26)C2 = C28(C2C28)
C3 = C8(C3C8)C3 =CI1(C3C11)C3 = C14(C3C14)C3 = C15(C3C15)C3 =CI6(C3Cl6)C3 = C17(C3C17) C2 = C29(C2C29)C3 =(C4(C3C4)C3 =CH(C3CH)C3 =C7(C3C7)C3 =C8(C3C8)C3 =109(C30C9)
C3 = C20(C3C20)C3 = C21(C3C21)C3 = C22(C3C22)C3 = (C23(C3C23)C3 =C24(C3C24)C3 = (C25(€C3C25) C3 = C11(C3C11)C3 = C12(C3C12)C3 = C13(C3C13)C3 = C14(C3C14)C3 =C15(C3C15)C3 =cC17(€c3C17)
C3 = C26(C3C26)C3 = C27(C3C27)C4 =C5H(C4C5)C4 =C6h(C4C6)C4 =C(C8(C4aC8)C4 =C10(C4cC10) C3 = C18(C3C18)C3 = C22(C3C22)C3 = (C23(C3C23 ) C3 = C24(C3C24)C3 = C26(C3C26)C3 = C28(C3C28)
C4 =C1l1(C4C11)C4 = C14(C4C14)C4 = C15(C4C15)C4 =Clb(C4Cl6)C4 = C17(C4C17)C4 = C19(cCc4a C19) 4 = C5(C4C5)C4 =C7(C4C7)C4 =C8(C4C8)C4 =CIY9(C4C9)C4 =C10(C4C10)C4 = C11(C4C11)
C4 = C20(C4C20)C4 = C21(C4C21)C4 = C22(C4C22)C4 = C23(C4 C23 ) C4 = C24(C4 C24 ) C4 = C25(C4 C25) C4 = C12(C4C12)C4 = C13(C4C13)C4 = Cl14(C4C14)C4 = C15(C4C15)C4 = C17(C4C17)C4 = C22(C4C22)
4 = C27(C4C27)C4 = C29(C4C29)C5 =C6(C5CH6)CH = C8(C5C8)C5 = C10(C5C10)C5 = C11(C5C11) C4 = C23(C4C23)C4 = (C24(C4C24)C4 = C28(C4C28)C4 = C29(C4C29)C5 = C7(C5C7)Ch = C8(C5C8)
C5 = C14(C5C14)C5 = C15(C5C15)C5 = C16(C5C16)C5 = C17(C5 C17 ) C5 = C20(C5 C20 ) C5 = C22(C5C22) C5 =C9(C5C9)C5 =C10(C5C10)C5 = C11(C5C11)C5 = C13(C5C13)C5 = C14(C5C14)C5 = C15(C5C15)
Ch = C23(C5C23)C5 = C24(C5C24)C5 = C25(C5C25)C5 = (C26(C5C26)C5 = (C27(C5C27)Cb6 = C8(Cob(C8) C5 = C17(C5C17)C5 = C18(C5C18)C5 = C22(C5C22)C5 = C23(C5C23)C5 = (C24(C5C24)C5 = C26(C5C206)
C6 = C10(C6C10)C6 = C11(C6C11)C6 = C14(C6C14)C6 = C16(C6C16)C6 = C17(C6C17)C6 = C19(C6C19) 5 =C28(C5C28)C7 = C8(C7C8)C7 =C9(C7C9)C7 = C10(C7C10)C7 = C11(C7C11)C7 = C12(C7C12)
C6 = C22(C6C22)C6 = C23(C6C23)C6 = C25(C6C25)C6 = C26(C6C26)C6 = C27(C6C27)C6 = C29(C6C29) C7 = C13(C7C13)C7 = C14(C7C14)C7 = C15(C7C15)C7 = C17(C7C17)C7 = C23(C7C23)C7 = C24(C7C24)
C8 = C10(C8C10)C8 = C11(C8C11)C8 = C14(C8C14)C8 = C15(C8C15)C8 = C16(C8C16)C8 = C17(C8C17) C7 = C26(C7C26)C7 = C28(C7C28)C7 = C29(C7C29)C8 = (C9(C8C9)C8 = C10(C8C10)C8 = C11(C8C11)
C8 = C19(C8C19)C8 = C20(C8C20)C8 = C21(C8C21)C8 = C22(C8C22)C8 = C23(C8C23)C8 = C24(C8C24) C8 = C12(C8C12)C8 = C13(C8C13)C8 = C14(C8C14)C8 = C15(C8C15)C8 = (C17(C8C17)C8 = (C18(C8CC18)
C8 = C25(C8C25)C8 = C26(C8C26)C8 = C27(C8C27)C8 = C29(C8C29)C10 = C11(C10C11) Cl 0 = C14(C10C14) C8 = (C22(C8C22)C8 = C23(C8C23)C8 = C24(C8C24)C8 = C26(C8C26)C8 = C28(C8C28)C8 = C29(C8C29)
C10 = C17(C10C17)C10 = C19(C10C19)C10 = C21(C10C21)C10 = C23(C10C23)C10 = C24(C10C24)C10 = C25(C10C25) C9 = C10(C9C10)C9 = C11(C9C11)C9 = C12(C9C12)C9 = C13(C9C13)C9 = C14(C9C14)C9 = C15(C9C15)
C10 = C26(C10C26)C10 = C27(C10C27)C10 = C29(C10C29)C11 = C14(C11C14)Cl11 = C16(C11Cl16)Cl11 = C17(Cl11C17) C9 = C17(C9C17)C9 = C18(C9C18)C9 = C22(C9C22)C9 = C23(C9C23)C9 = C24(C9C24)C9 = (C28(C9C28)
C1l1 = C19(C11C19)C11 = C20(C11C20)C11 = C22(C11C22)C11 = C23(C11C23)C11 = C24(C11C24)C11 = C25(C11C25) C9 = C29(C9C29)C10 = C11(C10C11)C10 = C12(C10C12)C10 = C13(C10C13)C10 = C14(C10C14)C10 = C17(C10C17)
Cl1 = C26(C11C26)C11 = C27(C11C27)Cl14 = C15(C14C15)Cl14 = C16(C14C16)Cl14 = C19(C14 C19)C14 = C20(C14 C20) C10 = C18(C10C18)C10 = C23(C10C23)C10 = C24(C10C24)C10 = C26(C10C26)C10 = C28(C10C28)C10 = C29(C10C29)
Cl4 = C21(C14C21)C14 = C23(C14C23)C14 = C24(C14C24)Cl14 = C25(C14C25)C14 = C26(C14 C26)C14 = C27(C14 C27) Cl1 = C12(C11C12)C11 = C13(C11C13)C11 = C14(C11C14)C11 = C17(Cl11C17)C11 = C18(C11C18)C11 = C22(C11C22)
Cl4 = C29(C14 C29)C15 = C16(C15C16)Cl15 = C17(C15C17)C15 = C19(C15C19)C15 = C20(C15C20)C15 = C22(C15C22) Cl11 = C23(C11C23)C11 = C24(C11C24)C11 = C26(C11C26)C11 = C28(C11C28)C12 =C13(C12C13)C12 = Cl14(C12C14)
C15 = C23(C15C23)C15 = C24(C15C24)C15 = C25(C15C25)C15 = C27(C15C27)C15 = C29(C15C29)C16 = C17(C16C17) Cl12 = C17(C12C17)C12 = C18(C12C18)C12 = C22(C12C22)C12 = C23(C12C23)C12 = C24(C12C24)C12 = C26(C12C26)
C16 = C19(C16 C19)Cl16 = C20(C16 C20)Cl16 = C21(C16 C21)Cl6 = C22(C16C22)Cl6 = C23(Cl16C23)Cl6 = C24(Cl16C24) Cl12 = C28(C12C28)C12 = C29(C12C29)C13 = C14(C13C14)C13 = C15(C13C15)C13 = C17(C13C17)C13 = C18(C13C18)
C16 = C25(C16 C25)Cl6 = C26(C16 C26)C16 = C27(C16 C27)Cl16 = C29(C16 C29)C17 = C19(C17C19)C17 = C20(C17 C20) C13 = C22(C13C22)C13 = C23(C13C23)C13 = C24(C13C24)C13 = C26(C13C26)C13 = C28(C13C28)C13 = C29(C13C29)
C17 = C21(C17C21)C17 = C22(C17C22)C17 = C23(C17C23)C17 = C24(C17C24)C17 = C25(C17C25)C17 = C26(C17 C26) Cl4 = C15(C14C15)Cl14 = C18(C14C18)Cl14 = C23(C14C23)C14 = C24(C14C24)Cl14 = C26(C14 C26)C14 = C28(C14 C28)
C17 = C27(C17 C27)C17 = C29(C17 C29)C19 = C20(C19C20)C19 = C21(C19C21)C19 = C22(C19C22)C19 = C23(C19C23) Cl4 = C29(C14C29)C15 = C17(C15C17)C15 = C18(C15C18)Cl15 = C22(C15C22)C15 = C23(C15C23)C15 = C24(C15C24)
C19 = C24(C19C24)C19 = C26(C19C26)C19 = C27(C19C27)C19 = C29(C19C29)C20 = C21(C20C21)C20 = C22(C20C22) C15 = C29(C15C29)C17 = C18(C17C18)C17 = C22(C17C22)C17 = C23(C17C23)C17 = C24(C17C24)C17 = C26(C17 C26)
C20 = C23(C20C23)C20 = C24(C20C24)C20 = C25(C20C25)C20 = C26(C20C26) C20 = C27(C20C27)C20 = C29(C20C29) C17 = C28(C17C28)C17 = C29(C17C29)C18 = C22(C18C22)C18 = C23(C18C23)C18 = C26(C18C26)C18 = C28(C18C28)
C21 = C22(C21C22)C21 = C23(C21C23)C21 = C24(C21C24)C21 = C25(C21 C25)C21 = C26(C21 C26)C21 = C27(C21 C27) C18 = C29(C18 C29)C22 = C23(C22C23)C22 = C24(C22C24)C22 = C26(C22C26)C22 = C28(C22C28)C22 = C29(C22C29)
C21 = C29(C21 C29)C22 = C23(C22C23)C22 = C24(C22C24)C22 = C25(C22C25)C22 = C26(C22C26)C22 = C27(C22C27) C23 = (C24(C23C24)C23 = C28(C23C28)C23 = C29(C23C29)C24 = C26(C24 C26)C24 = C28(C24C28)C24 = C29(C24C29)
C22 = C29(C22C29)C23 = C24(C23C24)C23 = C27(C23C27)C23 = C29(C23C29)C24 = C26(C24 C26)C24 = C27(C24 C27) C26 = C28(C26 C28)C26 = C29(C26 C29)C28 = C29(C28 C29)
C24 = C29(C24 C29)C25 = C26(C25C26)C25 = C27(C25C27)C25 = C29(C25C29)C26 = C27(C26 C27)C26 = C29(C26C29)
C27 = C29(C27 C29)




